[EEfE]

FI3EICSEFERIRAN - ERRE (1)
BRoom % % B OF # % wmF® %
3 i# R64 | R5HE b R64 | RG4 R R64% | RG4E | # R
1~28 [ 1~28 | # % % 1~28 | 1~28 | # #& % 1~28 | 1~28 | (K 1)
Tl & L B 1,840 1,695 145 8.6 979 768 211 2715 53.2 453 79
X E el 1 9 2 222 5 8 -3 -37.5 455 88.9 -43.4
% A 2 -2|  -100.0 —
3 = 1 2 -1 -50.0 4 -4|  -100.0 2000| -200.0
" K 2 -2|  -100.0 1 2 -1 -50.0 — 100.0 —
TERE®RXS 10 3 7 2333 4 2 2 100.0 400 66.7 -26.7
# =] E(t) 177 151 26 17.2 164 138 26 18.8 927 914 13
XIBZERES
7 1T 125 84 41 488 122 85 37 435 976 101.2 -3.6
% = 4 53 -12 -22.6 33 43 -10 -233 80.5 81.1 -0.6
Z H 8 13 -5 -38.5 9 10 -1 -10.0 1125 76.9 356
] "8 3 1 2 200.0
% & E(t) 1,190 1,123 67 6.0 685 476 209 439 576 424 15.2
# A =B 214 247 -33 -134 229 41 188 4585 107.0 16.6 90.4
&Y B & 263 256 7 2.7 48 24 24 100.0 18.3 9.4 89
k¥ B A B 713 620 93 15.0 408 411 -3 -0.7 57.2 66.3 -9.1
0 BE E(t) 199 151 48 318 51 92 -41 -44.6 25.6 60.9 -35.3
H # 194 135 59 437 42 80 -38 -475 216 59.3 -37.7
# B 3 4 -1 -25.0 3 2 66.7 166.7 75.0 91.7
# & 2 1 -9 -81.8 8 -4 -50.0 200.0 72.7 1273
& B 1 -1|  -100.0 1 -1|  -100.0 100.0 —
HoBAFE
H 53
I3} & E(e) 26 12 14 116.7 17 4 13| 3250 65.4 333 321
i #
FAEEDLLED 1 8 3 375 5 2 3 150.0 455 25.0 205
NRHLED 3 3 3 1 2 200.0 100.0 333 66.7
bhlvE># 1 1 1 1 100.0 100.0
ARERE
EANE-3 3 - 1 1 — 8 8 — 72.7 —
Z DD FEIL 237 249 -12 -48 57 50 7 14.0 241 20.1 40
SH B M 23 23 4 9 -5 -55.6 174 39.1 -21.7
DNERTHE 2 4 -2 -50.0 4 2 2 100.0 200.0 50.0 150.0
T EBE & A 30 53 -23 -43.4 16 5 11 220.0 53.3 9.4 439
W OE R 1 1 — —
BIRFSE 1 2 -1 -50.0 2 -2| -100.0 1000| -100.0
& &h 1 1 — 3 3 — 300.0 —
#= Y OB & 163 152 1 72 20 25 -5 -20.0 12.3 16.4 -4.1
z O i 16 15 1 6.7 10 7 3 429 62.5 46.7 15.8




[EEfE]

FELEERRH - #ERR  (2)

3 i# R64 | R5HE R R64 | R54 R R64 | RG4 R
1~28 | 1~2B | A B % 1~28 | 1~2B | A B % 1~28 | 1~2A | A B %
Tl & L B 541 458 83 18.1 470 406 64 15.8 71 52 19 36.5
X E el 4 6 -2| -333 4 5 -1l -200 1 -1| -100.0
53 A
[ & 3 -3| -100.0 3 -3| -1000
" K 1 1 1 1
TERE®RXS 3 2 1 50.0 3 1 2| 2000 1 -1| -100.0
# z E(t) 173 150 23 15.3 167 137 30 21.9 6 13 -7| -538
XIBZERES
7 17 134 98 36 36.7 131 91 40 440 3 7 -4 -57.1
= = 31 39 -8 -205 29 37 -8 -21.6 2
& bC] 8 12 -4 -333 7 8 -1 -125 1 4 -3| -750
ol "8 1 -1| -100.0 1 -1| -100.0
% = E(t) 250 201 49 24.4 206 177 29 16.4 44 24 20 83.3
72 A =& 25 21 4 19.0 23 20 3 15.0 2 1 1| 1000
&Y B & 24 10 14| 1400 15 4 11| 2750 9 6 3 50.0
k¥ B A B 201 170 31 18.2 168 153 15 9.8 33 17 16 94.1
bl BE L 45 56 -11|  -196 45 55 -10| -182 1 -1| -100.0
H # 36 45 -9 -200 36 44 -8| -182 1 -1| -100.0
# B 4 3 1 333 4 3 1 333
# = 5 6 -1 -167 5 6 -1 -167
& B 2 -2| -1000 2 -2| -1000
HoBAFE
H 53
I3} & E[e) 14 8 6 75.0 1 8 3 375 3 3 —
R # 5 -5 -100.0 5 -5 -100.0
FAEEDLLED 4 2 2| 1000 2 1 50.0 1 1 —
NRHLED 3 1 2| 2000 1 1| 1000 1 1 —
telAtcasly|
ARERE
EANE-3 3 - 7 7 — 6 6 — 1 1 —
Z Ot @ AL 55 37 18 486 37 24 13 542 18 13 5 385
& A BRI R 7 7 5 6 -1  -167 2 1 1| 1000
DNERTHE 5 1 4| 4000 5 1 4| 4000
T EBE & A 17 11 6 545 4 4 — 13 11 2 18.2
W OE R
BIRFSE 2 -2 -1000 2 -2| -100.0
& &R 2 2 — 1 1 — 1 1 —
#= Y OB & 17 7 10| 1429 16 7 9] 1286 1 1 —
r O i 7 9 -2 222 6 8 -2| -250 1 1




